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Sr Questions Answers Choice

1

Choose the grammatically correct sentence

While gold is smuggled intoA India theB silver is smuggled outC of the countryD NO
ERRORE

A. A
B. B
C. C
D. D
E. E

2

Choose the grammatically correct sentence

I do notA accept it becauseB it is the mostC extreme viewD NO ERRORE

A. A
B. B
C. C
D. D
E. E

3

Choose the grammatically correct sentence

The teacher asked him to write the answer ten timesA as he has again committed
mistakes in answering itB in spite of repeated correctionsC NO ERRORD

A. A
B. B
C. C
D. D

4

Choose the grammatically correct sentence

We have chosenA to completely ignoredB that responseC NO ERRORD

A. A
B. B
C. C
D. D

5

Choose the grammatically correct sentence

PerhapsA you know thatB Delhi isC a worth seeing placeD NO ERRORE

A. A
B. B
C. C
D. D
E. E

6

Choose the grammatically correct sentence

Someone had said that the English excelledA all other nations the Dutch being
avaraciousB the French a set ofC Sychophants the Germans drunken and gluttons
and the spaniards were pround and insolventD NO ERRORE

A. A
B. B
C. C
D. D
E. E

7

Choose the grammatically correct sentence

He wasA very fond of herB he thought of marryingC her more than onceD NO
ERRORE

A. A
B. B
C. C
D. D
E. E

8

Choose the grammatically correct sentence

Life inA the town or countryb has itsc advantages and disadvantagesD NO ERRORE

A. A
B. B
C. C
D. D
E. E

9

Identify the error

He was then exiled to this Island

A. he was then sent to this island
B. He was then deported to this
Island
C. He was then banished to this
Island
D. He was then driven out to this
Island

10
Identify the error

he was on the verge of leaving for Lahore when i reached there

A. I reached there and he left for
Lahore
B. he was about to leave for Lahore
when i reached there
C. He left for Lahore and i reached

there
D. I had reached there before the left
for Lahore

11

Identify the error

He deduced this point after he had studied the matter

A. He deduced this point because he
had studied the matter
B. He had studied the matter
therefore he deduced this point
C. He could not deduce this point



11 He deduced this point after he had studied the matter C. He could not deduce this point
without studying the matter
D. he studied the matter and
deduced this point

12

Identify the error

He ran away as he saw the lion

A. he ran away only because he had
seen the lion
B. He saw the lion and ran away
C. He saw the lion therefore he ran
away
D. Seeing the lion he ran away

13

Identify the error

In comparison with the literature created by the ancient Greeks today Greeks have
written nothing worth describing

A. In comparison with the literature
created by the ancient Greeks today
Greeks have written nothing worth
describing
B. In comparison with the literature
created by the ancient Greeks the
literature of today Greeks are
containing nothing worth describing
C. Compared to that of the ancient
Greeks today Greeks have written
nothing worth describing
D. Compared to that of the ancient
Greeks the literature of today Greeks
is not worth describing
E. Compared to the ancient Greeks
literature today Greeks have written
nothing worth describing

14

Identify the error

The president of the block association tried to convince her neighbours they should
join forces to prevent crime in the neighbour hood rather than continuing to be
victimized

A. They should join forces to prevent
crime in the neighbourhood rather
than continuing to be victimized
B. That they should join forces to
prevent crime in the neighbourhood
rather than continue to be victimized
C. About joining forces to prevent
crime in the neighbourhood instead
of continuing to be victimized
D. for the joining of forces to prevent
crime in the neighbourhood rather
than continue to be victimized
E. To join forces to prevent crime in
the neighbourhood rather than
continuing to be victimized

15

Identify the error

Just as william shakespeare was the preeminent poet of England so Robert Frost
was the Preeminent poet of the United states

A. Just a William Shakespeare was
the preeminent poet of England so
Robert Frost
B. Just like William Shakespeare was
the preeminent poet of England so
Robert Frost
C. As William Shakespeare was the
preeminent poet of England Robert
Frost
D. Just a England preeminent poet
was William Shakespeare Robert
Frost
E. As William Shakespeare was the
preeminent poet of England in the
same manner Robert Frost

16

Identify the error

The reason why the boxing commission refused to grant a license to the fighter was
because it concluded he could not pass the required physical exam

A. The reason why the boxing
commission refused to grant a
license to the fighter was because it
concluded
B. The boxing commissions refusal to
grant a license to the fighter was
because it concluded
C. The boxing commission refused to
grant a license to the fighter because
it concluded
D. The reason the boxing
commission refused to grant a
license was because it concluded
E. The boxing commission refused to
grant a license the reason being that
it concluded

17

Identify the error

The jurors agreed that of all the reasons the defense attorney gave for finding his
client not guilty the last two of them were the most absurd

A. The last two of them were the most
absurd
B. The latter two were the most
absurd
C. The last two of these were the
most absurd
D. The last two of them were the
absurdest
E. The last two were the most absurd

A. But they soon came to appreciate



18

Identify the error

Long popular among the connoisseurs of indian music Ravi Shankar first impressed
western listeners with his phenomenal technical virtuosity but they soon came to
appreciate his music as an artful expression of an older cultures musical insights

A. But they soon came to appreciate
his music as an artful
B. But is soon occurred that they
appreciated his artful music as an
C. But soon this was surpassed by
an appreciation of it as an artful
D. Which was soon surpassed by an
even deeper appreciation of it as an
artful
E. Soon surpassed by an artful
appreciation of an

19

Identify the error

Like their counterparts in other countries the student movement in the united states in
the 1960 was a powerful one and probably helped to bring the war in Vietnam to an
end

A. Like their counterparts in other
countries the student movement in
the united states in the 1960s
B. As in other countries the student
movement in the United States in the
1960s
C. Just as the student movements in
other Countries the student
movement in the United States in the
1960s
D. Like its counterparts in other
countries the student movement in
the United states in the 1960s
E. The student movement in the
united States in the 1960s. like in
other countries

20

Identify the error

The commission studying mass transportation suggested that the Metropolitan
Transit Authority hold off purchasing new subway cars and spend money instead on
preventive maintenance of all cars on repairs of substandard cars on crime
prevention in all stations an better lighting for the busiest stations

A. On crime prevention in all stations
an better lighting for the busiest
stations
B. On crime prevention in all stations
and better lighting for the busiest
stations
C. On crime prevention in all stations
and for better lighting in the busiest
stations
D. On crime prevention in all stations
and on better lighting for the busiest
stations
E. On the prevention of crime in all
stations and for better lighting in the
busiest stations


